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Answer bookler;
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k..o M log 64 — log 1024 + log 4096
Use ndices 0 SImPIY To €1+ Tog §2765-+ og 762744 -

Solve the equation:
(i) {z'+5z) log:9+{z+2)og: 16 =—12

[y o—3r=3"%-1

Given that cosf =% determine the other five trigonometric ratios of §.

coa’f—coa" 0+ zin’ f '

Prove the trigonometric identify Y e —— tan

Solve the equation:

2sinfsin 20 —sin20 +2sinf - 1=0, for0<8 = 360".

A committee of 11 members is to beformed from 10 men and 6 women. Determine the
number of ways in which it can berdone to include at least 4 women.

i) Use the binomial theorem 10 expand

{Etiﬁ upto the lerm in x2.

(i) Byseting T=r in the result in (b)) determine the valuc of 79

Given that f= - 11.1"_'.’ , use binomial theorem o determine the percentage change

in f when Lincreases by 3% and € decreases by 4%,

Determine the values of M and M such that

4 posh 3+ 5 ainh dr = Me™+ Ne™™.
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Prove the identify

sinh 20 + sinh 46+ sinh 66 2 tanh 24
cosh 28 + cosh 49 + cosh 68 1+ tanh’ 26 ©

{6 marks)
Solve the equation:
dcoshdr+Dsinh dr=3. {9 marks)
Show that the polar form of the cartesian equation

, = 1

r 1 r-.— — = = ——
by ty—lsliis r 2+snd

(7 marks)
Prove that tan™ i+ tan LK (6 marks

i i i )
Determine the logarithmic form of cosh™' 3r. {7 marks)
Given the complex nombers £, =4+3. £,=53—067 and £:=6+5%7 .-
determine  ZmZ+ [ 3:3‘«3:}-] i the Form o+ b
T2+ 2

(6 marks)
{1} Show that cos & = cosh g
(i)  Hence express eos™@ in erms of the cosines of multiples of &.

(8 marks)
Given that £ =2 iz a root 1o the equation. 2" —62'+21Z +x=0,
(K} determine the value of x;
i) the other roots,

(6 marks)

ety R
The * term of an anthmelc progression 1§ i—?— rimes the fourth term. If the sum of
the first 20 terms is 1220, determine the

(e} first term;
':-_.u-? & ’ =
{iiy  common difference; fid
[iti) average of the 15 and 2| * rerms.
(13 marks)
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{b)  Use peometric progression to convert the recurring decimal (0.47747T into a fraction.
(7 marks)

g (a)  All Module 1 Automatic Enginesring students in & college decided to raise Esh 36400
for a project. After the initial contributions were made, 5 students changed course
to Diploma in Production Engineering and pulled out of the project and recovered
their contributions. The remaining number of students shared equally the amount
ke continue with the project. If the contribution per student increased by Ksh.24,
determing the:

i)  onginal number of students;
(i)  original contnbution per student.
(i) new contribution per student.

(12 marks}
{b) Use eliminations method to solve the simultanecus equations:
3 +by+8z=31
Tx—dy+2z=33
B+ 0y +42 =5
(8 marks)
L -3 f 2w (70 = Je=
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